## FAIRFIELD TOWNSHIP RESOLUTION NO. 25-40

## RESOLUTION AUTHORIZING THE PURCHASE OF SECURITY CAMERAS FROM SWOCA IN THE AMOUNT OF \$11,576.89.

WHEREAS:	The Township Trustees are concerned above employees and the security of the Veterans administration building; and		
WHEREAS:	The Township Administrator is recommensecurity cameras for the building and the variable make the area safer;		
NOW, THER Ohio, as follow	EFORE, BE IT RESOLVED, by the Trust vs:	ees of Fairfield Township, Butle	r County,
SECTION 1:	The Board of Trustees hereby approves the the Township in the total amount of \$11,57 1000, from SWOCA, as set forth on the att	6.89, to be paid out of the Gener	
SECTION 2:	This resolution is the subject of the general a through the Ohio Revised Code and not the s Trustees through the status as a Limited Hom	pecific authority granted to the Bo	
SECTION 3.	The Trustees hereby dispense with the requirement that this resolution be read on two separate days, pursuant to ORC 504.10, and authorizes the adoption of this resolution upon its first reading.		
SECTION 4:	That it is hereby found and determined that a and relating to the passage of this Resolution in compliance with all legal requirements inc	were taken in meetings open to th	e public,
SECTION 5:	This resolution shall take effect at the earliest	period allowed by law.	
	Adopted: March 11, 2025		1
Board of Trust	rees	Vote of Trustees	FIRST
Michael Berdin	g:		1000
Shannon Hartke	emeyer:		
Joe McAbee: _			
	ATION  that this is a resolution which was duly passe is, 2025.	d and filed with the Fairfield Tow	nship
ATTEST:	APP	ROVED AS TO FORM:	
Chara.	Colours	Let /bul	

Katherine Barbiere, Township Law Director

Shelly Schultz, Fairfield Township Fiscal Officer



3611 Hamilton-Middletown Road - Hamilton, Ohio 45011-2241 - voice 513.867.1028 - fax 513.867.0754 - www.swoca.net

Chuck Goins Fairfield Township 6032 Morris Road Hamilton, Ohio 45011 01/22/2025

Chuck,

SWOCA is pleased to present Fairfield Township with this Contracted Services proposal as listed below.

**Quote** # FT-CS-250148

FFTWP Park Camera System

Item Desc	QTY per	Each	Ext
Security Products and Services			
AXIS P3738-PLE 4x8MP AXIS P3738-PLE 4x8MP Camera	1 Quad	1,678.00	1,678.00
AXIS P3737-PLE 4x5MP AXIS P3737-PLE 4x5MP Camera	2 Quad	1,502.00	3,004.00
AXIS   T94N01D   Quad Pendant Kit	Cam 3	88.00	264.00
AXIS   T91A64   Corner	Bracket 3	79.00	237.00
AXIS   T91D61   Wall M	ount 3	88.00	264.00
AXIS P4707-PLVE 2x5MF AXIS P4707-PLVE 2x5MF Camera		971.00	971.00
AXIS   T94N02D   Dual ( Pendant Kit	Cam 1	61.00	61,00
AXIS   T91B67   Pole Mo	ount 1	96.00	96.00
MILESTONE   XPEXPLUS Express + Device License		61.34	306.70
Milestone MILESTONE   YXPEXPLUSDL   1-Year (	5 Care Plus	11.65	58.25
AXIS   02172-004   30 W Midspan	/att 1	70.00	70.00
		Group subtotal:	7,009.95

To proceed with this order, please submit your purchase order referencing quote FT-CS-250148 along with this acceptance to finance@swoca.net.

Any quote or line item marked "Budgetary" is for planning purposes only, Purchase orders can NOT be accepted for these items.

SWOCA

3611 Hamilton Middletown Rd Hamilton, OH 45011 SW@CA

ltem	Desc	QTY	per	Each	Ext
Professiona	l Services				
PS1	Professional Services - Subcontracted SCOPE OF WORK Installation of Qty (1) AXIS P3738-PLE 4x8MP Quad Camera on top of Restroom Building. Installation of Qty (2) AXIS P3737-PLE 4x5MP Quad Cameras on Admin Building. Installation of Qty (1) AXIS P4707-PLVE 2x5MP Dual Camera on Admin Building. Relocate Qty (1) existing Samsung camera to interior vestibule. Installation of cat6 cables to each camera location. Provide Qty (5) Milestone Devices Licenses. Add cameras and licenses into existing Milestone XProtect Server. Optional: Additional \$445.99 Add Qty (2) existing Samsung Cameras into Milestone. Provide Qty (2) Milestone Device Licenses.	1	Each	4,566.94	4,566.94
	Assumptions:  • Existing P2P from Admin Building to Restroom building assumed functional.  • Restroom Building mast with weather head to be in place prior to camera installation.  • Any existing cameras assumed to be functional.  • Switch Ports by others.  • Network route from Admin Bldg. to existing Milestone Server to be available.  • Cabling for optional cameras assumed functional.				
				Group subtotal:	4,566.94

Quote in Progress. Need by 1/17 Quote for Fairfield TWP provided by PCS

To proceed with this order, please submit your purchase order referencing quote FT-CS-250148 along with this acceptance to finance@swoca.net.

Any quote or line item marked "Budgetary" is for planning purposes only, Purchase orders can NOT be accepted for these items.

SWOCA

3611 Hamilton Middletown Rd Hamilton, OH 45011



11,576.89

Total (USD):

Client: Chuck Goins cgoins@fairfieldtwp.org Phone: (513) 785-2266 Quote #: 24600 Jeff@pcswiring.com (513)733-9473

- Installation of Qty (1) AXIS P3738-PLE 4x8MP Quad Camera on top of Restroom Building.
- Installation of Qty (2) AXIS P3737-PLE 4x5MP Quad Cameras on Admin Building.
- Installation of Qty (1) AXIS P4707-PLVE 2x5MP Dual Camera on Admin Building.
- Relocate Qty (1) existing Samsung camera to interior vestibule.
- · Installation of cat6 cables to each camera location.
- · Provide Qty (5) Milestone Devices Licenses.
- Add cameras and licenses into existing Milestone XProtect Server.

Optional: Additional \$445.99

- · Add Qty (2) existing Samsung Cameras into Milestone.
- Provide Qty (2) Milestone Device Licenses.

Assumptions:

- Existing P2P from Admin Building to Restroom building assumed functional.
- Restroom Building mast with weather head to be in place prior to camera installation.
- · Any existing cameras assumed to be functional.
- · Switch Ports by others.
- · Network route from Admin Bldg. to existing Milestone Server to be available.
- · Cabling for optional cameras assumed functional.
- Existing Milestone server at PD is up to date or can be updated without versioning changes and fully functional

Signature for Fairfield Township	Name/Title	
Acceptance Date		

To proceed with this order, please submit your purchase order referencing quote FT-CS-250148 along with this acceptance to finance@swoca.net.

Any quote or line item marked "Budgetary" is for planning purposes only, Purchase orders can NOT be accepted for these items.

SWOCA

3611 Hamilton Middletown Rd

Hamilton, OH 45011





## **Estimate**

Date	Estimate #		
7/15/24	102		

Name / Address

Fairfield Township Administration 6032 Morris Road Fairfield Twp Ohio 45011

Project

Description	Qty	Rate	Total
Small Form Factor Server Headless	1	5,395.99	5,395.99
Milestone Express + License Camera	5	218.99	1,094.93
Milestone Express + Base	1	1,895.00	1,895.00
Network 24 port PoE +	1	1,395.99	1,395.99
8MP Dome 2.8MM Memorial Parking to Park off Admin Building	5	425.99	2,129.9
lear Admin Builing Front Lot Front lobby			
Labor	27	75.00	2,025.00
		Subtotal	\$13,936.88
		Sales Tax (6.5%)	\$0.00
		Total	\$13,936.88

